Swift struct
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import UIKit
struct Coursef{

var title: String
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import UIKit
struct Course{

var title: String

Course @

print("course id:", course.id, "title: ", course.title) "course... [

7\
L)
\__/

= O
course id: 10 title: ca
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import UIKit

enum Activation{
case linear
case threshold

]
6 case sigmoid
¥
struct Neuron{
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import UIKit

enum Activation{
case linear
case threshold
case tanh
case sigmoid

}
struct Neuron{
var
var activation: Activation
ini (I

self.weight = weight

¥
15}
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import UIKit

enum Activation{
case linear
case threshold

case sigmoid
}
struct Neuron{

var weight: [Double]

var activation: Activation

init(

self.weight = weight
= activation

}

print(neuron.weight)
print(neuron.activation)
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import UIKit

struct Line{
var slope: Double
var intercept: Double
init(slope: Double, intercept: Double){
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1 import UIKit

3 struct Line{

A var slope: Double

5 var intercept: Double

6 init(slope: Double, intercept: Double){

Line @
print(line.slope, line.intercept) "1.01... @
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import UIKit

struct Line{
4 var slope: Double]
var intercept: Double

¥

var line = Line(slope: 1, intercept: 0) Line @
- Line @
print(line.slope, line.intercept) "1.01.. @
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import UIKit

struct Line{
var slope: Double
var intercept: Double
var [
init(slope: Double, intercept: Double){
self.slope = slope
self.intercept = intercept

b
}
12
let line = Line(slope: 2, intercept: Line O
prmt(_) '201... @
)
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2.0 1.0 false
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import UIKit
var 1dGen = 1
struct Student{
let studentId: Int
var name: String
init(name: String){
self.name = name

1dGen += 1
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1 import UIKit
7 var 1dGen = 1 1
3 struct Student{

A let studentId: Int

5 var name: String

5 init(name: String){
self.name = name

9 idGen += 1 2 -
10
”
12 Student (&)
13 print(studentl.studentId, studentl.name) "1 John... (@)
>
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1 John Lin
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1 import UIKit

2 struct Student{

3 var name: String

¢ var [
5 init(name: String){
6 self.name = name
7 ¥

8 }
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1 import UIKit

2 struct Student{

3 var name: String

4 var

5 init(name: String){

6 self.name = name

7 ¥

8 }

9 var studentl = Student(name: "John Lin")
10 if | |
11 print (studentiMajor)

12 }

13 else{

14 print("unspecified") unspec... @
> }
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import UIKit
struct Student{
var name: String
var major: String?
init(name: String){
self.name = name

}
init(name: String, major: String){
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import UIKit
struct Student{
var name: String
var major: String?
init(name: String){
self.name = name

}

init(name: String, major: String){

¥
¥
13 var I Student (@
if let studentlMajor = studentl.major{
print(studentl.name, studentlMajor) "John Li... @)
¥
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import UIKit

struct Line{
var slope: Double
var intercept: Double
mutating func shiftTo(x: Double, y: Double){

self.intercept = y — self.slope * X Line
}
¥
var line = Line(slope: 1, intercept: 0) Line
12 line.intercept = 1 Line
line.shiftTo(x: 2, y: 1 ) Line
print("slope:", line.slope, "intercept: ", line.intercept) "slope:...

= O
slope: 1.0 intercept: -1.0

line.shiftTo(x: 2, y: 1)



